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BCM SCHOOL, BASANT AVENUE, DUGRI ROAD, LUDHIANA
CLASS - IV MATHEMATICS
ANSWER KEY (REVISION ASSIGNMENT - 3)
(DECEMBER, 2023)
TOPIC-CH-9,10 & 11

I. Choose the correct option.
c) diameter
a) 1/4
b)1cm =100 m
b) litre
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HINTS

[I.  Observe the figure carefully, write answers.
. a) 1 km=1000 m (Multiply)

b) 1 cm = 10 mm (Divide)
IV.  Arrange m and cm in columns and add.

V. Subtract the quantity of rice taken out of the sack from the total quantity
of rice in the sack.

VI.  Perimeter of figure = sum of all sides
VII.  Length of wire needed = Perimeter of rectangular park

Use formula — Perimeter of rectangular Park =2 X (I + b)
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